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To pV éxer Siaordoeig evépyeiag( m.x. oeA.102 PAV=AW)
Me kamoigg mpoimoBéoeig umopolpe va ypdyoupe:

pV=%A(’:F1 -W

X anodeifte 6T 1 Latm= 101,37 kai
XPNOLOTIOIAOTE To oTn ueTaTpomr Tng R oro SI
( popA. 64/140: 1Latm=101T, 67/140: 1Latm=10147)

wikipedia: The density, or more precisely, the volumetric mass density, of a substance is its mass per unit volume. The symbol most
of ten used for density is p (the lower case Greek letter rho), although the Latin letter O can also be used. (8eg kai TUPAC Gold Book)
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wikipedia: R:The gas constant (also known as the molar, universal, or ideal gas constant. Some have suggested that it might be
appropriate to name the symbol R the Regnault constant in honour of the French chemist Henri Victor Regnault, whose accurate
experimental data was used to calculate the early value of the constant; however, the exact reason for the original representation of

the constant by the letter Ris elusive.

wikipedia: Use of the Greek letter mu () for the dynamic stress viscosity (1€Wdeg) is common among mechanical and chemical
engineers, as well as physicists. However, the Greek letter eta () is also used by chemists, physicists, and the TUPAC.
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